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[EXY Advanced graphs  (Govavced)
W
Match each of the equations below with its correct graph. Graph R is y = f(x).
For questions 12 to 15, write the coordinates of the points of intersection and check by L
substitution,
1 y=-Ax 6 y=(x+3)3 Hy=02-Dx+2) |
2 y=fx)+2 T (x-22+(@y+1)*=4 12 ¥ +y?=25andy=1-x
3 y=3fx) 8 (x+12+(y-27=16 13 y=-2?andy=x-2 h
4 y=2f(x)-1 9 y=x(x~1)}x+2) 14 xy=2andx-2y-3=0
5 y=1x° 10 y=(x+D(x-2)x-1) 15 2y=x2-d4andx+2y-2=0 L
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I—!dvanced graphs  (ovancep)

Match each of the equations below with its correct graph. Graph A is y = f{x).
For questions 12 to 15, write the coordinates of the points of intersection and check by

substitution,

Ay =—fx) &Y= (x+3) My=2-1)(x+2)
Y= fx)+2 A -22+ (y+1p2=4 A2 R4 2=25andy=1-x
3 y=3fx) B (x+1)2+(y-2)2=16 A3 y=—2andy=x~2
Ay =2/~ 1 9y =x(x—1)(x +2) A vy=2andx-2y-3=0
B Y= M y=(+1)x-2)(x-1) A5 2y=22-dand x+2y —2=0
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